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Match	
  the	
  radical/exponent	
  expression	
  on	
  the	
  left	
  with	
  the	
  correct	
  answer	
  on	
  the	
  right.	
  
Done	
  correctly,	
  you’ll	
  end	
  up	
  with	
  a	
  mathematical	
  equation	
  at	
  the	
  bottom.
1.	
  

€ 

9
9−4 / 5

= 	
  

	
  
	
  
	
  
2.	
  

€ 

(72 / 3 ⋅ 8−1/ 3)3 = 	
  
	
  
	
  
	
  

3.	
  

€ 

1
100

3 = 	
  

	
  
	
  
	
  
4.	
  

€ 

484 = 	
  
	
  
	
  
	
  

5.	
  

€ 

93/ 5

92 / 5
=	
  

	
  
	
  
	
  

6.	
  

€ 

1
10

3 =	
  

	
  
	
  
	
  

7.	
  

€ 

7−2

7−1/ 2
⋅
1
2−3

= 	
  

	
  
	
  
	
  

8.	
  

€ 

184

94
=	
  

	
  

T.	
  

€ 

103

10
	
  

	
  
	
  
	
  
O.	
  

€ 

7−3 / 2 ⋅ 8	
  
	
  
	
  
	
  
M.	
  

€ 

99/ 5 	
  
	
  
	
  
	
  
H.	
  

€ 

2⋅ 34 	
  
	
  
	
  
	
  

O.	
  

€ 

1003

10
	
  

	
  
	
  
	
  
C.	
  

€ 

91/ 5	
  
	
  
	
  
	
  
L.	
  

€ 

24 	
  
	
  
	
  
	
  

A.	
  

€ 

49
8
	
  

	
  
	
  
	
  

€ 

_ _ _ _ = _ _ _ _
1. 2. 3. 4. 5. 6. 7. 8.

	
  


